Bowling Quiz 5 







Name _______________________
1. Find the midpoint of the longest side of the right triangle with vertices (-1, 4) (3, 1) 

and (0, -3).
2. An object is thrown and its path follows the function f(t) = -6t2 + 12t. How long will this object be in the air before it hits the ground?
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3. A book club has 200 members. Each member was asked whether he or she prefers fiction of nonfiction books. The results are shown in the frequency table below.

Which statement is true?

     a. 8 more 31 – 40 year olds than 21 -30 year olds prefer non-fiction.

     b. 19 members are 31 – 40 years old and prefer non-fiction. 
     c. 57 members are 31-40 years old.

     d. 16 more 31 – 40 year olds than 21 – 30 year olds prefer non-fiction.
4. Let f(x) = 3(0.8)x. Which of the following statements best describes f(x)?

     a. The y-intercept is 3; it decreases by 20%. 
b. The y-intercept is 3; it decreases by 80%.

     c. The y-intercept is 0.8; it triples. 


d. The y-intercept is 0.8; the slope is 3.
5. Two times Celia’s age plus four times Jennifer’s age is 40. Jennifer is one year older than Celia. How old are the two girls?
6. Line A is parallel to line B and passes through (-3, 2). If the equation of the graph of line b is y = 3x + 10 , which is the equation of line A?
     a. y = -3x – 7 

b. y = -1/3x + 1 

c. y = 3x + 7 


d. y = 3x + 11

7. The table below shows the number of residents in a neighborhood who received new water meters over several weeks:
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What was the average increase in residents who received new water meters each week?

     a. 7


b. 20



c. -3.8



d. 22.7
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8. The table below shows the amount of shoes purchased at Shoes Unlimited.
What is the meaning of the slope of the linear model for the data?
     a. The store sells 30 pairs of shoes every hour.     

     b. The store sells 15 pairs of shoes every hour.

     c. The store sells 15 pairs of shoes every two hours.

     d. The store sells 1 pair of shoes every 15 hours.
9. A triangle has vertices (2, 4), (3, -1), and (-2, -2). What is the approximate perimeter of the triangle?
10. Given that f(x) = 2x + 3 & g(x) = 3x – 1, when does f(x) = g(x)?

     a. 0.6 


b. 3.2 



c. 4.8 



d. 1.9

11. Factor -8a2b3 + 10a2b

     a. -8a2b(b2 + 2) 
b. -2a2b(4b2 – 5) 

c. -2ab(4b2 – 5a2) 

d. a2b(8b2 – 10)

12. The candy store charges $2 for a bag plus 5 cents per piece of candy.  How many pieces of candy can you buy for $3?
13. Simplify (42)3
     a. 45 


b. 46 



c. 122 



d. 83
14. The difference of twice Sarah’s age and 3 times Amy’s age is -1.  Amy’s age is 1 year less than Sarah’s age.  What is Sarah’s age?
15. Assuming the table below represents a linear relationship, what is the predicted value of y when x = 4?
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     a. 19. 4 


b. 20.4 


c. 21.4 


d. 22.4

16. A is the midpoint of RS. S is located at (-9, 4) and A is located at (6, -3). What are the coordinates of R?
     a. (-1, 6)


b. (-7, -6)     

c. (-13, -6)        
d. (-13, 6)           
e. (21, -10)
17. John is planning a party at the skating rink and the cost of the party, C, is C(p) = 4p + 20, where p is the number of people who will attend. The skating rink can only hold a maximum of 60 people. What is the practical domain for this function?
     a. all real numbers 




b. all positive numbers

     c. all real numbers < 60 



d. all positive integers <60

18. NC: A frog’s jump can be modeled by the equation f(x) = -10x3 + 40x.  How long is the frog in the air?
19. What is the slope intercept form of the linear equation with a graph that passes through (8, 9) and is parallel to the graph of -7x + 4y = 16?
     a. y = 7x – 47

b. y = 7x – 65

c. y = 7/4x – 5

d. y = 7/4x – 23
20. East Reynolda High School interviewed 2500 students to determine if they preferred chocolate, candy canes, or marshmallows best with their hot chocolate in the winter. The results are shown in the frequency table below.
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How many more juniors than sophomores participated in the survey?

     a. 150 


b. 200 


c. 250 


d. 300

